Bellwork  Alg2 Monday, January 27, 2020

Simplify each. Use absolute value symbols where necessary.
1. J108m2n23p? 2. 7[256g7h4kS

3. Find the original problem that lead to the following answers.
a) 337 Jx =/ b) 2|d%e|g? {5d°¢* = 4§

4. One cube has an edge that is 3 cm shorter than the edge length of a second cube. The volume of the
smaller cube is 200 cm3. What is the volume of the larger cube? Round to the nearest tenth.
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3. Find the original problem that lead to the following answers.

a) 3py7IJE = 3T Ty b) 2Ad’elg? Y57 = j1.5 4P 2o ®

?x

4. One cube has an edge that is 3 cm shorter than the edge length of a second cube. The volume of the
smaller cube is 200 cm3. What is the volume of the larger cube? Round to the nearest tenth.




